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Introduction



Component 1: breadth study


Component 1 involves the study of significant developments over an extended period of time (around 50 years at AS and 100 years at A-level) and an evaluation of historical interpretations.


The Tudors: England 1485–1603


The specification lists the content of Tudor England in two parts, each part being divided into two sections.


Part 1 Consolidation of the Tudor dynasty: England 1485–1547





1  Henry VII, 1485–1509



2  Henry VIII and the Royal Supremacy, 1509–47





Part 2 England: turmoil and triumph 1547–1603





3  Instability and consolidation: the ‘mid-Tudor crisis’, 1547–63



4  The triumph of Elizabeth, 1563–1603





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


The AS examination


The AS examination which you may be taking includes all the content in Part 1.


You are required to answer:





•  Section A: one question on two contrasting interpretations: which is the more convincing? You need to identify the arguments in each extract and assess how convincing they are, using your knowledge, and then reach a judgement on which is the more convincing. The question is worth 25 marks.



•  Section B: one essay question out of two. The questions will be set on a broad topic reflecting that this is a breadth paper, and will require you to analyse whether you agree or disagree with a statement. Almost certainly, you will be doing both and reaching a balanced conclusion. The question is worth 25 marks.





The exam lasts one and a half hours, and you should spend about equal time on each section. At AS, Component 1 will be worth a total of 50 marks and 50 per cent of the AS examination.


The A-level examination


The A-level examination at the end of the course includes all the content of Part 1 and Part 2.


You are required to answer:





•  Section A: one question on three interpretations: how convincing is each interpretation? You are NOT required to reach a conclusion about which might be the most convincing. You need to identify the arguments in each extract and use your knowledge to assess how convincing each one is. The question is worth 30 marks.



•  Section B: two essay questions out of three. The questions will be set on a broad topic (usually covering 20–25 years). The question styles will vary, but they will all require you to analyse factors and reach a conclusion. The focus may be on causation, or consequence, or continuity and change. Each question in this section is worth 25 marks.





The exam lasts for two and a half hours. You should spend about one hour on Section A and about 45 minutes on each of the two essays. At A-level, Component 1 will be worth a total of 80 marks and 40 per cent of the A-level.


In both the AS and A-level examinations you are being tested on your ability to:





•  use relevant historical information (Sections A and B)



•  evaluate different historical interpretations (Section A)



•  analyse factors and reach a judgement (Section B).





How to use this book


This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination.





•  The book is divided into four sections – one for each section of the A-level specification.



•  Each section is made up of a series of topics organised into double-page spreads.



•  On the left-hand page you will find a summary of the key content you will need to learn.



•  Words in bold in the key content are defined in the glossary (see pages 100–102).



•  On the right-hand page you will find exam-focused activities.





Together, these two strands of the book will provide you with the knowledge and skills essential for examination success.
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Examination activities


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol. [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol. [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol. [image: ]






Some of the activities have answers or suggested answers on pages 104–108. These have the following symbol to indicate this. [image: ]


Each section ends with an exam-style question and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.





Mark schemes


For some of the activities in the book it will be useful to refer to the mark schemes for this paper. Below are abbreviated forms.


Section A Interpretations






	
Level 

	AS-level exam

	A-level exam






	1

	Unsupported vague or general comments. Little understanding of the interpretations.(1–5)



	Mostly general or vague comments OR shows an accurate understanding of one extract only.

(1–6)








	2

	Partial understanding of the interpretations. Undeveloped comments with a little knowledge.(6–10)



	Some accurate comments on interpretations given in at least two of the extracts. Some analysis, but little evaluation.

(7–12)








	3

	Reasonable understanding of interpretations. Some knowledge to support arguments.

(11–15)



	Some supported comments on the three interpretations, with comments on strength, with some analysis and evaluation.

(13–18)








	4

	Good understanding of interpretations. A supported conclusion, but not all comments well-substantiated and judgements may be limited.

(16–20)



	Good understanding of the interpretations, combined with knowledge of historical context, with mostly well-supported evaluation, but with minor limitations in depth and breadth.

(19–24)








	5

	Good understanding of interpretations. Thorough evaluation of extracts leading to a well-substantiated judgement.

(21–25)



	Very good understanding of interpretations, combined with strong awareness of historical context to analyse and evaluate with well-supported arguments.

(25–30)









Section B Essays






	
Level 

	AS-level exam

	A-level exam






	1

	Extremely limited or irrelevant information. Unsupported, vague or generalist comments.(1–5)



	Extremely limited or irrelevant information. Unsupported, vague or generalist comments.(1–5)








	2

	Descriptive or partial, failing to grasp full demands of question. Limited in scope.(6–10)



	Descriptive or partial, failing to grasp full demands of question. Limited in scope.(6–10)








	3

	Some understanding and answer is adequately organised. Information showing understanding of some key features.(11–15)



	Understanding of question and a range of largely accurate information showing awareness of key issues and features, but lacking in precise detail. Some balance established.(11–15)








	4

	Understanding shown, with range of largely accurate information showing awareness of some of the key issues and features leading to a limited judgement.(16–20)



	Good understanding of question. Well-organised and effectively communicated, with range of clear and specific supporting information showing good understanding of key features and issues, with some conceptual awareness.(16–20)








	5

	Good understanding. Well-organised and effectively communicated. Range of clear information showing good understanding and some conceptual awareness. Analytical in style, leading to a substantiated judgement.(21–25)



	Very good understanding of full demands of question. Well-organised and effectively delivered, with well-selected, precise supporting information. Fully analytical, with balanced argument and well-substantiated judgement.(21–25)












1 Henry VII, 1485–1509



Henry Tudor’s consolidation of power: character, aims and establishing the Tudor dynasty


Claim to the throne


Henry Tudor’s claim to the throne was weak.





•  Henry’s claim came through his mother, Margaret Beaufort, who was a direct descendant of Edward III by the marriage of his third son, John of Gaunt, Duke of Lancaster, to Katherine Swynford. However, the fact that John and Katherine’s son, John Beaufort (Margaret’s grandfather), had been born prior to their marriage weakened any future claim to the throne by this line of descent.



•  Henry inherited royal blood from his father, Edmund Tudor. Edmund’s French mother, Catherine, had been married to Henry V before she became the wife of Edmund’s Welsh father, Owen. Edmund was the half-brother of the king, Henry VI. Henry VI raised his half-brother to the peerage by creating Edmund, Earl of Richmond. Therefore, Henry VII was the half-nephew of the king of England and a member of the extended royal family.



•  In reality, Henry’s claim to the throne rested on his victory in battle. That he had defeated and killed king Richard III was regarded as a sign that God had approved of Henry’s assumption of power.





Aims


Henry VII’s aim was to remain king and establish his dynasty by handing on an unchallenged succession to his descendants. His policies at home and abroad were shaped and dictated by this aim. Therefore, his goals were simple: to secure and strengthen his dynasty. He knew that if he was to prove himself a strong king and retain full control of his realm he would have to:





•  establish effective government



•  maintain law and order



•  control the nobility



•  secure the Crown’s finances.





He would also need good advice, friends abroad and a considerable amount of luck.


Character


The character of the king was important because the ruler was responsible for policy and was closely involved in the business of government. Because monarchy was personal, everything depended on the monarch’s energy, interest and willingness to work.


Historians have been more concerned with Henry’s aims and achievements than his character, which explains why they tend to disagree about what he was like.


Establishing and consolidating the Tudor dynasty





•  Henry dated the beginning of his reign from the day before the battle of Bosworth: 22 August 1485. Therefore Richard and his supporters could be declared traitors, which meant that their estates became the property of the Crown by Act of Attainder.



•  Henry deliberately arranged his coronation before the first meeting of parliament. Thus it could never be said that parliament made him king.



•  He married Elizabeth of York, the daughter of Edward IV. This united the Houses of Lancaster and York and dissuaded many Yorkists from challenging Henry.



•  The birth of a son and heir, Arthur, early in the reign (September 1486) helped to establish the dynasty (see page 16).



•  Henry enlisted the support of the Church and gained control of the nobility (see page 12).



•  He secured the support of the Pope and the kings of France and Spain, who recognised the legitimacy of his kingship (see page 14).







[image: ]
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Below are a sample question and a paragraph written in answer to this question. Why does this paragraph not get high praise? What is wrong with the focus of the answer in this paragraph?




To what extent do you agree that Henry VII’s claim to the throne was weak?
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Henry’s claim to the throne was weak because his father was an earl and not a king. His grandfather was not even an Englishman; he was a Welsh squire. Henry’s claim through inheritance was weak because it descended through the female line. Henry was an exiled earl who took a gamble on winning the throne by invading England and facing Richard III in battle.
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[image: ] Support or challenge?      [image: ]


Below is a sample question which asks to what extent you agree with a specific statement. The table sets out a list of general statements that are relevant to the question. Using your own knowledge and the information on the opposite page, decide whether these statements support or challenge the statement in the question.




Do you agree that the main reason Henry VII succeeded in establishing the dynasty was due to the strength of his royal connections?









	 

	
SUPPORT 

	
CHALLENGE 






	Henry VII was descended from Edward III

	 

	 






	Henry VII was a hard-working and energetic monarch

	 

	 






	Henry VII was the half-nephew of Henry VI

	 

	 






	Henry VII had the support of the Pope and the Church

	 

	 






	Henry VII controlled the nobility

	 

	 






	Henry VII married Elizabeth, the daughter of Edward IV
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Government: councils, parliament and justice


Central government


The centre of medieval English government was the king himself and the men he chose to sit on his council. The functions of the king’s council were to advise the king on matters of state, to administer law and order, and to control local government.


Henry relied on a small, core group of councillors who met with him regularly. This elite group included the chief officers of state, which gave stability to the new regime.


To improve the efficiency of central government, Henry decided to use smaller committees formed from within the council.





•  One committee took responsibility for the implementation of the Acts of livery and maintenance.



•  Another, the Court of General Surveyors, audited the revenues from Crown lands.



•  The Council Learned in the Law was responsible for wardship, marriage and relief of all the king’s tenants, and the collection of feudal dues. This Council was disliked because of its connection with bonds and recognisances. By the end of the reign it had become the most detested, but the most important, of all Henry’s institutions of government.





Regional government


The government of the kingdom was entrusted to key men appointed by the king to govern through regional councils. Henry VII did this because he trusted these men to follow his orders without question:






	




•  Thomas Howard, Earl of Surrey







	Council of the North






	




•   Jasper Tudor, Duke of Bedford






	Council in Wales and the Marches






	




•  Sir Edward Poyning





	Council of Ireland







Local government


The key unit of local government was the county. The sheriff and the Justice of the Peace (JP) were the two most important royal officials in each county. JPs were appointed to the commission of the peace for life; sheriffs were selected annually.


The sheriffs were the Crown’s representatives in every county throughout England and were responsible for:





•  the management of parliamentary elections



•  peacekeeping and the detention of criminals.





JPs governed and dispensed justice in courts known as quarter sessions. Here they had the power to:





•  arrest, try and imprison



•  issue a range of punishments, including the death penalty.





Serious offences such as treason and rebellion were tried at the courts of assize, presided over by judges appointed by the Crown. The highest criminal court was the Court of king’s Bench, which could override decisions made at the quarter sessions and assize courts.


Parliament


Parliament was summoned on seven occasions, and five of those were in Henry’s first decade as king, when he was relatively insecure. The government bills most frequently passed were Acts of Attainder, designed to subdue his political opponents.


Legislation was also used to carry out his policies against riots and retaining, and 10 per cent of all statutes dealt with the responsibilities of the JPs and the control of the provinces. Further acts dealt with social discipline, such as that of 1495, which laid down rules on wages and hours of work. Henry’s limited use of parliament, especially after 1495, when he only called it twice, emphasised the fact that all power derived from the Crown.
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Use the information on the opposite page to add detail to the mind map below to show how the different parts of government helped Henry VII to govern the kingdom.
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[image: ] Spectrum of importance      [image: ]


Below is a sample AS-level question and a list of general points that could be used to answer the question. Use your own knowledge and the information on the opposite page to reach a judgement about the importance of these general points to the question posed.


Write numbers on the spectrum below to indicate their relative importance. Having done this, write a brief justification of your placement, explaining why some of these factors are more important than others. The resulting diagram could form the basis of an essay plan.




‘Henry VII’s success in government was due to the elite group of councillors who advised him in the king’s council.’ Explain why you agree or disagree with this view.








1  Work and advice of the elite group of councillors in the king’s council



2  The effectiveness of the Council Learned in the Law



3  The key men entrusted with responsibility for the regional councils



4  The work of the sheriffs and the Justices of the Peace



5  Bonds and recognisances and laws against retaining



6  Henry VII
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Royal finance and domestic policies



Royal finance


Henry VII’s financial aims were quite simple: to achieve solvency by increasing royal income, decreasing expenditure and thereby restoring the Crown’s financial strength.


Henry did not feel secure unless he was rich, which helps to explain why his financial administration was ruthlessly efficient. He could use his wealth to:





•  reward loyal service



•  bribe potential opponents



•  fund armies



•  consolidate the dynasty: a full treasury would provide his heir with the resources to fight to retain the throne.





Ordinary revenue


Ordinary revenue was the regular income on which the Crown could rely to finance the costs of monarchy. There were four principal sources of ordinary revenue:





•  Crown lands consisted of inherited lands that included the Earldoms of Richmond, March and Warwick, the Duchy of Lancaster and the Principality of Wales. The annual income from Crown lands increased from £29,000 in 1485 to £42,000 in 1509.



•  Customs duties provided a third of the Crown’s ordinary revenue. The average annual receipts rose from £33,000 to around £40,000.



•  Feudal dues: in 1487 the annual proceeds from feudal dues such as wardship and marriage was £350, but by 1507 this had risen to £6,000.



•  Legal system and profits of justice: Henry ensured that most criminal acts, including treason, were punished by fines rather than by imprisonment or execution.





Extraordinary revenue


Extraordinary revenue was money that came to the Crown on particular occasions and therefore with no regularity. There were six principal sources of extraordinary revenue:





•  Bonds and recognisances: the practice of subjects paying a sum of money to the Crown as a guarantee of their future good behaviour. Receipts rose from £3,000 in 1493 to £35,000 in 1505.



•  Clerical taxes: grants made by Convocation, such as the £25,000 towards the cost of the French campaign of 1491–92.



•  Feudal obligations: the right to levy such obligations as distraint of knighthood or to demand payment for special occasions, such as the marriage of his eldest daughter.



•  French pension: the king of France promised (Treaty of Étaples, 1492) to pay Henry £159,000 in annual instalments of £5,000.



•  Loans and benevolences: requests made to his landholding subjects for financial support that were virtually impossible to decline, even though they were traditionally in the form of ‘agreements’.



•  Parliamentary grants: raised by means of taxes on moveable property called ‘fifteenths’ and ‘tenths’. These helped pay for the battle of Stoke that marked the defeat of the Yorkists and the French campaign.





Domestic policies


Henry’s financial administration underpinned and supported his other domestic policies, which were geared towards controlling the nobility, co-operating with the Church and maintaining law and order.





•  Nobility: controlled the nobility by issuing attainders, curbing retaining and rewarding good service.



•  Church: Henry offered the Church his patronage and protection and it publicly upheld his God-given right to rule. The head of the Church, the Pope, supported Henry.



•  Law and order: agents of central government such as JPs and sheriffs, supported by trusted noble governors working through regional councils, brought the kingdom under control.
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Below are a sample question and a paragraph written in answer to this question. Why does this paragraph not get high praise? What is wrong with the focus of the answer in this paragraph?




To what extent do you agree that Henry VII’s financial policies made the most important contribution to his success as a ruler?
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Henry VII’s success as a ruler was due almost entirely to the way he ruthlessly exploited and developed the kingdom’s revenue system. He bullied the nobility into submission and bribed the Church into supporting him. Henry defeated rival claimants to the throne and eliminated threats to his power from within. Henry VII believed that the wealth gained from making the kingdom solvent would secure his position and establish his dynasty.
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[image: ] Interpretations: content or argument?      [image: ]


Read the interpretation in Extract A at the bottom of the page and the two alternative answers to the question below.


Which answer focuses more on the content and which focuses more on the arguments of the interpretation? Explain your choice.




Using your understanding of the historical context, assess how convincing the arguments in this extract are in relation to an analysis of the success of Henry VII’s financial policies.





Answer 1




[image: ]


This extract states that Henry VII’s financial policy was a success because he was solvent by 1490. Henry’s investments had paid off because he was able to leave his heir with a large fortune in cash and thousands of pounds worth of plate and jewels. There is no doubt that Henry’s financial policy was one of his major achievements.
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Answer 2
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This extract argues that Henry VII successfully restored the Crown’s finances. That a near bankrupt kingdom had become solvent in little over five years is a measure of Henry’s success in managing the Crown’s finances. This is considered to be one of Henry VII’s most significant achievements because he was the first king in a century to achieve solvency. However, it is important to put the success of his financial policy into perspective. Henry bequeathed his heir a modest fortune, and in spite of his success England was still poor in comparison to its European neighbours, France and Spain.


[image: ]





[image: ]







[image: ]


EXTRACT A


By about 1490 Henry was solvent. It was rumoured that he left a substantial fortune for his heir to squander, but in fact the [treasury] contained only £9,000 in cash at the time of his death. There may have been other, unrecorded, sums in the hands of [royal officials], and the plate and jewels in which Henry had invested were worth many thousands of pounds, but even when these are taken into account they do not add up to a ‘fortune’. Recognition of Henry VII’s undoubted and major achievement in restoring the royal finances must not, therefore, obscure the fundamental truth that by European standards the English monarchy was under-endowed, circumscribed in its freedom of action, and dependent upon a considerable degree of co-operation – however grudgingly given – from those who were subject to it.


Adapted from R. Lockyer, Henry VII (Longman, 1983)
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Relationships with Scotland, France, Spain and other foreign powers


Henry VII’s relationship with foreign powers


Henry’s vulnerable position in dynastic and financial terms made non-intervention on the Continent the most sensible approach. Henry’s foreign policy was subordinated to his domestic policies of enriching the monarchy and ensuring the obedience of his subjects.


Henry’s actions in foreign affairs were designed to give him time to consolidate support. He had to ensure he had support abroad if he was to secure his throne at home. Dynastic threats dominated his dealings with foreign rulers, which is why the issue of security lay at the heart of the treaties he concluded with France, Spain, Scotland and Brittany. By 1508 Henry had achieved a measure of stability in his foreign relations and his position on the throne was secure from foreign intervention.


Scotland


The most vulnerable land border was the northern one with Scotland. Scotland was England’s traditional enemy, made more dangerous because of the Scots’ ‘auld alliance’ with France.


Relations between Scotland and England were always tense, but when James IV of Scotland offered Perkin Warbeck his support in 1495, the prospect of war seemed imminent. However, James lost faith in Warbeck and decided instead to come to terms with Henry. The truce of Ayton was concluded in 1497, becoming a full treaty of peace in 1502. The treaty was sealed in 1503 by the marriage of James IV to Henry’s daughter, Margaret.


Spain


The most significant achievement of Henry VII’s foreign policy was the alliance negotiated with Spain in the Treaty of Medina del Campo in 1489. It was agreed that Henry’s heir, Prince Arthur, would marry Ferdinand and Isabella’s youngest daughter, Catherine of Aragon. The Tudor dynasty had been recognised as an equal by one of the leading royal families of Europe. This was of major importance to a usurper who was keen to secure international recognition of the legitimacy of his kingship.


France


Relations between France and England had been harmonious, but this changed when France threatened the independence of Brittany. Henry announced his intention to assert his claim to the French Crown and in 1492 sent an army across the Channel, where it laid siege to Boulogne. Charles VIII of France wished to avoid war and agreed to sign the Treaty of Étaples in 1492. Charles promised not to give any aid to English rebels, particularly Warbeck, to pay most of Henry’s campaign costs and to pay an annual pension of some £5,000, approximately 5 per cent of Henry’s annual income.
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